EARAZROREIERT — 2 N—XBISY —F 20125128218 (&) 101158

m#*/g sO—24R B1— 4#5%—MH (w8 | 1mEmml - |5 5 oom
[x&<£] 1 % :3,000,000 @ ~ 23 :900,000 @ ~ 337 :600,000 @ ~ 4 3 :360,000 § ~ 5 7 :240,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
FlBEX 142, -3-2- . — NARAZ (1)
1lslg|vamovansy G [ A B R 1 3037) ZUHIE
L:xrdndaO— BNATLYRI 4> HFREANIS
o1, = ABEX :43. —0—4— . — KEHHEE (B
olsl7|¥F/TLET 1 H 5 Fi 1(433)0 2-2-4-3 | 39.8 4 (5:)23) il
LI TLeTe BYIN/ =TI R FER S
S 4 5 | BHB 1:43.1 1-1-1-1 | 40.0| — 2 474 | NAAZ (11E)
EH4 hoAALI—F 54.0 (7€) (2) | IHER]
LTINSy Y2 BibYHITATS EiRiis
S o 4t 5 | HEMHEX 1:43.2 10-11-9-7 | 39.0 | — 5 456 | EBER (11B)
41111 AXN) ARG~ 54.0 (3/4) 0 #$IRA §
L:TVHA XTI R B:LTF 17 viN— pAcZie]
- AN BN 143 -5-5- . — FEREE (J1118)
5 3 2Fy T84 L 4 4 il 1(34/34)3 4-5-5-3 | 39.9 6 (‘1584) iy
Ry TELAVF— BT7Z2—XF« TH BIE
R TIN 4 o4 | BEY 1:43.7 7-8-6-5 |39.9| — 3 488 | WshEfE (fafE)
6|8|13 7T A1 %.0 @) s |EBTE
L:77)—h B:R&2—"JxH REBS
= # o6 | BBEXSE 1:44.2 11-10-12-11{ 39.9 | — 7 472 | ERZER (K#H)
d : NEEAEERE: 5.0 2 1/2) (-4) e
L:70%%¥% B:777-47Y% BORM S
N EIEER : -6-3- — IBFEERE (KH)
8 9| TIENTY - H 6 et 1(.51;2.)3 4-6-3-6 | 41.0 13 ?g)z nas 5
:Fe7 BT YzISA b BiE RE
5 g R 4 5 | WA 1:44.5 14-14-13-13| 39.8 | — 12 | 482 |WUAZE (fafE)
917/12| ZAHINF Y K 252.0 (3/4) “1) %%Z?‘ ;
L:AR—->Fx>y B:E-NAFO-F— plitie]
> > 6 | REAH 1:44.9 9-9-6-9 |41.3| — 9 473 | WigEx (J111&)
10l7 11| ¥ r/ATX “ % 5.0 ® o | EEER
Z:yQ7%x B:x¥aFv> FRESS
S [T 4 g | EEER 1:45.1 8-7-11-10 | 41.1 | — 10 404 | EEEEL (AAAE)
11 10> Y- 56.0° a (1) | REFR
LV TRE=I By TGy— M. Abe
. 44 | ETEE4E 1:45.1 4-4-8-7 |41.6| — 1 479 | UhEE (#a8)
12pd2 VavT> 56.0 (747 (g |EATE
Z:nNTd BiwTygURy ke
N 4t 6 | SHEK 1:45.6 12-12-9-12 | 41.4 | — 8 520 |=AE— (&)
K] 4 ERA R Rk 56.0 21/2) -3) ik
L:77V—h B:T77E1TZAHT— Eapse]
S5 28 # 5 | REFA 1:47.3 13-13-14-14| 42.5 | — 14 | 469 |MAAR—K (K¥#)
14/8[14| XY~ P X2 X 5.0 ®) 12 | ) F=-pm
RNy BLHTT BIOLTF—R b HET7—L
® 1—F—@EBIERL
13=2F= 4,7,8,(2,3,9),13,10,11,1,6,5,14,12
2a=5F= 4,7,8,2,3,9,10,13,11,6,1,5,14,12
Ja=5= 4,8,9,7,3,(11,13),2,(1,5),10,6,12,14
43—+ — (4,8),(3,7),13,9,(1,2),11,10,6,5,12,14
[ /N
B 8 210H 714K 7-8 400 e E 5-5 1,260M JEE 4-7-8 990F4
B B 8 110H 4-8 170M e B S0 1,400 3EE 8-7-4 6,010/
7 220M 4-7 420M B & 7-8 1,340
4 120 B H 8-7 1,810

ABICOVWTRDTEEERROODE. TR LIV,



